
INSTALLATION INSTRUCTIONS
Product  Revision Form #

INST-196Rev. DPanasonic PDRC In-Dash Mount
(Crown Victoria/Police Interceptor 1998+)
7160-0217

The In-Dash mounted Panasonic PDRC mounts into the dash of 1998 and newer
Ford Crown Victoria/Police Interceptor vehicles.  The mount attaches to an
existing bracket in the vehicle dash.
The installation involves the removal of the ash tray/cup holder and requires the
following tools:  7MM and 7/16" hex sockets or open end wrenches, pliers, straight
and Phillips drive screwdrivers, 9/64", 5/32", & 3/16" hex key (Allen) wrenches.

Figure 1.

If you need assistance or have questions, call Gamber-Johnson at 1-800-456-6868

   Figure 1
Using a flat screwdriver, depress the two stops and pull the ash tray/cupholder
out of the Dash Bracket, and disconnect the wires leading to the cigarette
lighter.

Ash tray/Cup Holder

Depress Stop

Depress Stop

Dash Bracket

Product Mounting Disclaimer 
Gamber-Johnson is not liable under any theory of contract or tort law for any loss, damage, personal injury, special, incidental or consequential damages for personal injury or other damage 
of any nature arising directly or indirectly as a result of the improper installation or use of its products in vehicle or any other application. In order to safely install and use Gamber-Johnson 
products full consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brakes lines, electrical, drive train or other systems), air-bags and other safety equipment is 
required. Gamber-Johnson specifically disclaims any responsibility for the improper use or installation of its products not consistent with the original vehicle manufactures specifications 
and recommendations, Gamber-Johnson product instruction sheets, or workmanship standards as endorsed through the Gamber-Johnson Certified Installer Program.



Figure 2.
Remove the Dash Trim Panel by pulling it straight out away from the dash.  The
trim panel is held in with spring clips.

Dash Trim Panel

Figure 3.
Disconnect the wires for the Trunk Release Button if applicable.
Next remove the (4) Hex Washer Head Screws that attach the Heater Control
Panel to the dash with a 7MM hex socket.  Let the heater control panel hang loose.

Wires for 
Trunk Release

Hex Washer Head Screws Heater Control Panel

Figure 2.

Figure 3.



Figure 4. & Figure 5.
The Dash Bracket has three holes approximately 1/2" in diameter.
Place the Back-Up Plate inside the cavity so the holes in the Back-Up Plate line up
with the holes in the Dash Bracket.

Figure 4. Figure 5.

Dash Bracket O1/2" holes Back-Up Plate

Figure 6
Place the in-dash bracket on the bottom side of the dash bracket and attach
the three pieces together with (3) .25-20 x .50 long hex head screws and flat
washers.

Figure 6

Dash bracket

Backup plate

In-dash bracket

Hex head screws
& flat washers

After assembly of the In-Dash Bracket is complete re-assemble the Heater Control
Panel from Figure 3, re-connect the Wires for the Truck Release from Figure 3,
and re-attach the Dash Trim Panel from Figure 2.



OPTIONAL - Attaching the Support Leg to the In-Dash Bracket

Attach the Support Leg to the In-Dash bracket with the 1/4-20unc x 1/2" long hex
head bolts and flat washers that were provided in hardware bag 7120-0190.

1.  Loosely install the front bolt on each side of the support leg into the middle
hole of the in-dash bracket.  Push on the lower portion of the support leg, the
in-dash bracket will raise towards the front of the bracket.  Push the lower portion
of the leg under the in-dash bracket until the second set of holes are in line.

2.  Install the remaining bolts and flat washers into the second set of holes.
Tighten all the bolts.

Attaching the Upper Assembly to the In-Dash Bracket:

1.  Fasten the Upper Assembly to the In-Dash Bracket with the 3/8-16unc
adjustable lever and 3/8 flat washer.  The adjustable lever can be loosened to
swivel the screen approx. 30 degrees toward the driver side or passenger side of
the vehicle.  The Hand knob on the side of the assembly allows the user to tilt the
display up to 90 degrees away from the dash.  A 3/8" carriage bolt, flat washer,
and ny-lok nut have been provided in the hardware bag to permanently position
the upper assembly tightly against the dash and out of the airbag zone, if required.

Upper Assembly

In-Dash Bracket

O3/8" bolt, flat washer, and ny-lok nut
(found in hardware bag for permanently 
mounting the upper assy. in place.)

3/8 Flat Washer

Adjustable Lever

Hand Knob

In-Dash Bracket

Second set of Bolts and Washers

Support Leg Front Bolts and Washers



Attaching the Display to the Upper Assembly:

The display attaches to the Upper Assembly with the (2) clips and (6) phillips pan
head machine screws and split lock washers found in the hardware bag.

Clip

Phillips Pan Head
Machine Screws &
split lock washers

Display



Attaching the Keyboard Tray:

Attach  the keyboard tray to the display assembly with the 1/4" bolts and flat washers that
were supplied with the keyboard tray.  Once complete attach the Cover Bracket (found in the
hardware bag) to the keyboard tray with the #6-32unc machine screws that were also
supplied in the hardware bag.

Latching the keyboard in place:

To latch the keyboard tray in place, push the tray back against the mount until the latch
engages the mating hole on the display assembly.  While applying pressure against the front
of the keyboard tray, rotate the keyboard assembly to the right side to ensure the latch
mechanism has been fully engaged.  You should hear an audible click when the latch engages
the display assembly.

To unlatch the keyboard arm, push and hold the latch button while pulling outward on the
right side of  the  latch bracket.  Pull the keyboard tray into the desired position for use.

Gamber-Johnson recomends stowing the keyboard tray in the latched position during vehicle
opperation.  Two lock keys have been provided in case the end user wants to lock the
keyboard arm in place.

Cover Bracket

Keyboard Tray

#6-32unc mounting Hardware

1/4" bolts and 
flat washers


